TH2EEENRISFFRAFTEER

£ HEHDRE HEAFTRIKNR (GHN2F2/ 4B IEFHE)

e 4 gl B - 3 — | ZEXE |#EssAn|wssmEn) g e
EEE-BARZEI—X (40) 8 6 0.75
A E|EER-BAESHRZRO—R (40) 8 6 0.75
BEH 30 12 13 1.08
, b 40 18 13 0.72
¥ H
ARIRER 40 18 23 1.28
R R 80 24 22 0.92
B EF I ElESH 40 12 5 0.42
IERIRIE R 40 12 4 0.33
HEER 40 18 15 0.83
ey MESES S 40 18 13 0.72
BER 40 18 26 1.44
£ MR &FEH 160 45 34 0.76
i3 | & 5EXXAEF 40 12 17 1.42
EMEER
P R B EE=ETHIH 90 36 21 0.58
INAAE AR
\ EB|&EEH -Eita—X (40) 18 22 1.22
LTER-AEI—X (40) 24 34 1.42
E W 4t #MKFTY-NAFF 80 32 35 1.09
BT HAF 40 18 22 1.22
MW IZRE 80 32 27 0.84
BFHMIZRE 40 16 15 0.94
= W T ¥$E1$ﬂ 40 16 12 0.75
BRIZH 80 32 26 0.81
BEIRH 40 16 30 1.88
TARIZH 40 16 8 0.50
MBRRER 80 40 47 1.18
= U & ¥%$ﬁ5§ﬂ 40 18 18 1.00
=&t 80 40 33 0.83
1EERLE R 80 40 36 0.90
=00 F ﬂdﬁ_ﬁ?ﬂ 160 48 50 1.04
BEH 40 14 26 1.86
= L R|EEH-BAHFI—X (40) 12 26 2.17
= 1L M|EER-EfFa—X (40) 8 6 0.75
B P EBEE-FEI—X (30) 18 21 117




TH2EEENRISFFRAFTEER

£HEEORE HBEAZTRKRE (FM2F2/4BEFHE)

e 4 gl B - 3 — | EHEXE |#EssAn|wsEsmEn| g e
N BHREFEH 160 45 37 0.82
PN | & &R -FHRI—R (40) 12 12 1.00
o B|EEH 40 18 18 1.00
R R 40 16 11 0.69
BEFRmE 40 16 21 1.31
BRE 40 16 13 0.81
= B I =|EEH 40 16 22 1.38
T RIRER 40 16 19 1.19
IT=% 30 12 17 1.42
THA - IGEF 40 20 29 1.45
MIBRRER 80 40 52 1.30
= @ om % %:ﬁﬁ:ﬁ*—l— 40 20 15 0.75
=EtH 40 20 23 1.15
1EERLE R 40 20 28 1.40
x KR|EFRRRE 120 40 22 0.55
= [ mEER - AXEFEI—R (40) 12 18 1.50
= | & B KFEa—R (40) 16 19 1.19
EERZEH 20 8 5 0.63
5k = 5’%1;’%%4?%4 20 8 6 0.75
EDHRRE 40 18 22 1.22
AR R 40 18 10 0.56
R 80 32 23 0.72
R I EESRH 40 16 11 0.69
BFH 40 16 16 1.00
ERRF 30 12 26 2.17
MmO B BEXREH 30 12 17 1.42
fEtl® 30 15 15 1.00
A B R 40 18 35 1.94
a B 274623 % 3190 | 1245| 1,274 1.02

1) BEEEED( )FIEFFHOFEERDOARETLTND,

(¥2) FRHUOHAA
PREESR(EVEER-BEXTFAU8-/NAFEHRD 2DO0 T, 3FHR
LTV, 278627 &£715 5,




TH2EEENRISFFRAFTEER

£BFIORE HEAFSRERL (SH2F2 A4BEFRE) (KFER )

X = # AR C N T ICE o Bz
E ] F3ih 390 136 170 1.25
TEHE(BFRa—X) - - - -
EER (a—X )| @0 36| 170 (1.25)
2 " B F M| - - - -

= 3 & 150 52 48 0.92
= ¥ il 170 68 56 0.82
7K i ® 60 26 32 1.23
I 3 £ 1,070 420 394 0.94
5] E 3 & 680 328 362 1.10
3 = 8l 120 48 50 1.04
5 H & 40 14 26 1.86
& il & 30 15 15 1.00
E = = & 480 138 121 0.88
= 5t 3190 | 1245 1,274 1.02
(B TSI EEAFEER)

X = F 2| s%ws |ennein|wasmey| gx e
E i1 Sk 430 160 163 1.02
ETEH(BRa—X) - - - -
ERE (3= )] @0 e (163) (1.02)
# R B F M - - - -

& & 150 50 31 0.62
= E3 FSih 170 68 51 0.75
7K 23 # 60 26 21 0.81
I 3 #1030 404 364 0.90
5] ¥ & 680 328 330 1.01
E3 E & 120 48 55 1.15
5 o & 40 14 36 2,57
=) #Ht FSik 30 15 15 1.00
v & % #®| 440 133 133 1.00
& £t| 3.150| 1,246 1,199 0.96

=]




